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Hl#94: weight= HIFIDEH 0Ol 1] 2
type =linear A 15 20 | 30
[HIFIARAK] =
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obj: weight=1 type=linear
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scop < exl-scop.dat

# reading data ... done: 0.00(s)

penalty = 1/32 (hard/soft), time = 0.00(s), iteration = 0
# improving the initial solution greedily

penalty = 0/47 (hard/soft), time = 0.00(s), iteration = 0
# start tabu search

penalty = 0/37 (hard/soft), time = 0.01(s), iteration = 2
# penalty = 0/37 (hard/soft)

# cpu time = 0.01/0.05(s)

# iteration = 2/100

[best solution] O 1 2

A: 0
B: 2

c:1 A | 15| 20 | 30

penalty: 0/37 (hard/soft)

[Violated constraints] B 7 1 5 1 2

obj: 37

37=15+12+10 (5 M) DEH C | 25|10 | 13
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variable Ain {0, 1, 2}
variable B in {0, 1, 2}

variable Cin {0, 1, 2} %8 AB,CDEIZHLT,
variable D in {0, 1, 2} S ETIE- A e 23 e P

variable E in {0, 1, 2}
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#l#94: weight= FIHIDE

type =linear
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0 1 | 2
A 15 | 20 | 30
B 7 15 | 12
C 25 | 10 | 13
D 15 | 18 3
E 5 12 | 17

constraintO: weight=inf type=linear
1(A,0) 1(B,0) 1(C,0) 1(D,0) 1(E,0) >=1
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constraintl: weight=inf type=linear e .
1(A,1) 1(B,1)g1(C,1) 1%%,1) 1(E,1) >=2 TE=1ICEREN2AL L

constraint2: weight=inf type=linear .
1(A,2) 1(B,2)g1(C,2) 1%%,2) 1(E,2) >=2 TE21CEFEN2AL L

obj: weight=1 type=linear
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scop <ex2-scop.dat
# reading data ... done: 0.00(s)

penalty = 1/52 (hard/soft), time = 0.01(s), iteration = 0
# improving the initial solution greedily

penalty = 0/57 (hard/soft), time = 0.01(s), iteration = 0
# start tabu search

penalty = 0/50 (hard/soft), time = 0.03(s), iteration = 2
# penalty = 0/50 (hard/soft)

# cpu time = 0.03/0.05(s)

# iteration = 2/100

[best solution]

Al
B:2
C:1
D: 2
E:O
penalty: 0/50 (hard/soft)
[Violated constraints]
obj: 50

50 (=20+12+10+3+5) A H

A | 15 | 20 | 30
B 7 | 15 | 12
c | 25 | 10 | 13
D | 15 | 18 | 3

E | 5 | 12 | 17
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Hl%94: weight= RN EH
type = quadratic
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guad: weight=100 type=quadratic
1(A0)(C,0 1(A1)(C11) 1(A2)(C,2 <=0
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scop <ex3-scop.dat
# reading data ... done: 0.00(s)

penalty = 1/52 (hard/soft), time = 0.00(s), iteration = 0
# improving the initial solution greedily

penalty = 0/157 (hard/soft), time = 0.00(s), iteration =0
# start tabu search

penalty = 0/60 (hard/soft), time = 0.01(s), iteration = 2
penalty = 0/52 (hard/soft), time = 0.01(s), iteration = 8
# penalty = 0/52 (hard/soft)

# cpu time = 0.01/0.03(s)

# iteration = 8/100

[best solution]

A: 0
B: 2
C:1
D: 2
E: 1

penalty: 0/52 (hard/soft)

[Violated constraints]
obj: 52

52 (=15+12+10+3+12) A M

A | 15 | 20 | 30
B 7 | 15 | 12
C | 25 | 10 | 13
D | 15 | 18 | 13

E | 5 | 12 | 17
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-noadjust : 2T —IEFEFDORFILT+EH B HHEBEEET ESNLE

display : 07 DHALALERE (0,1,2,3: MAKENEE HMIEHET)
s E=0)

-interval : SR EBEREMRESLICH AT EHEEE FREME=0)
-iteration : iRARKRERIZRTE GREE =)

-seed : ELHRINDEZHRTE, FEOEEHA N GREME=1)
-target :B1EET HAIRNFILTAIEZERTE (BXEE=0)

-time & KFTEERE () (BEE{E=600)

-initial : ¥ HARE SR E
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